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What is the solution of the equation

8 +x=187
O x=26
O x=10

18

gaxd| doleo J> :P1

8+ x=18 dlslaall Ja 2 L
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Evaluate the expression r— 5 cr=10 88 1Y) r— 5 jeadl) dad 2
If r= 10.

o s :
O —15 b
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What is the value of the expression ¢|—3| juuall) dasd La
=317
O -3 a
O 30 b

@Oo
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Solve the equation. calsleal) Ja
S=21 ;=21
O X =7 a
1
Ox== b
7
1
O X=— C




D Write the fraction —2 % as a decimal. Sy s ddn e —2% YW Uiy

O -2.8
e S e TN -y =T EmEEEsETEEEEEEEEREEREES . |
® -2.6
(N C > e oL r
O -2.688
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; Factor the expression. o yandl) Jia
D 8x + 40 8x + 40

O 8(x+5) A
O 2(x+20) b

- O 4(2x+40) C

L
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Graph the set of integers on a ey bl e 2l de gana JSia
1
D number line, {—3,0,-2,4}
{_31' 0! —2; 4'}
-3 -2 -1 0 1 2 3 4
® E) @ ] .
O -3 -2 -1 0 1 2 3 4
® e o o .
o -3 -2 -1 0 1 2 3 4
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9 ¥ 4 | v ! L 9 =5 |
D

O £ @ @ & ;

-3 =2 -1 0 1 2 3 4
O il @ L] b

-3 =2 = 0 1 2 3 4

= ’ S
C

-3 -2 -1 0 1 2 3 4

@ 0 ® >
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Find the next two terms in the sequence, AT (B Gl Cpaal) ol

0,13, 26, 39,... 0,13, 26, 39,...

039,52 a

(O 52,65 b

O 52,55 <

50,63 d
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D to find the length of the waterslide
i

in yards.
O —=3 a
O 48x=3 b
O 48+x=3 c

O 3x=48 d



aks SMarhemarics  Dridge "”'Iﬂr ‘l....ni.‘__..ll 202130212

cesss BONUSE sosee .‘
J,‘ Question |.1 5 : St _
Determine if the two expressions in G JS b Slwwaddl SIS 13} La 23 |
| @each pair are equivalent. If they are dpalal) slad (AIAS ULS V3)y - OeillSSa |

' equivalent, select the property that A gl |

is illustrated.
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0+5,5| | 0+5. 5 \

szjz ,12x2 | | 2x12.12%2 X
3-16 ,16-3 | [ | 3-16.16-3 \
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E(-1. - 4)and F(—~3.4). Then reflect
point F across the y-axis and point E
across the x-axis. What is the shape of
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How much water is left in the watering
can?
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Use a coordinate plane to represent A pal) Gply digaa Jall AlaaY) cipeaan ==
Yaseen's stone garden. Graph points E(—=1,—4)s F(-3.,4) ol Sl
E(-1,— 4) and F(—3,4). Then reflect y ,',...j,n sl e F Al A T L
point F across the y-axis and point E X A sl E E ikilly
across the x-axis. What is the shape of tipall Adhaa Jola
his stone garden?
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Question

4

el

The change in five stocks during a

day are;

2
Order the changes from least to

3
5.6, HZE. 0.18,—-4 l and 1.35

greatest.

Lagd pall e o

A

5.6,—2

S ) Al e sl g

P

i
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2018 —% =,1.35
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